EARAZROREIERT — 2 N—XBISY —F 2012548 18H (k) 1[EIXFH3H

KW > %—# CI3WmE (xwlw | mEmml - |5 ) w8
[AE4£] 17 :800,000 3 ~ 23%&:240,000  ~ 33#&:144,000 @  47#&:96,000 3 ~ 5 37 :80,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 REESES S # 5 ;iﬁ_ﬂ(i)lﬁﬁﬁ 1:(1_3).8 43  |8r7| — | 1 | 508 E}gig (k#)
RI5LFT BTF—Fod> )| remns
» 13| PRI H— B4 5{%‘52% 1:(144).6 1-1 8.6 — 2 418 %ﬁ?ﬁ%éﬁ#)
QHIRTL ISR BTIATLA BT A 0| s
N - 2R o4 gﬁ%ﬁ%ﬁ 1:(135).2 -9 386 — | 13 | 438 gi};ﬁéd\w
QAT YAY BiF1LN—H3 ) 1 T0% 2751
+ 0 Sy IRYA 4 4 suél%fék (11:115/.;1) 12-10  |38.8| — 7 fj; xg%i;l\w
L:77)—h B:UTF—IHLR FRBE%S
5158 #n/E—0— o4 5-%8%%— 1:(115).6 1311 [39.0| — 12 | 493 gﬁgi (KF)
Ry THLRF— BAHLFTFT— O | sgannz s
617112 JrH—S1=F i 4 5&‘-‘,%,&: (11:115/.29) 10-13  [39.3| — 9 (4+436) R(;i)ﬂaﬂ_é,%u(ﬁ#)
R:FEY KY2=7 BiLF1TzH— TATAT7— 1
7 6l LFr—avra— it 5 ﬁf‘gl‘éﬁi 1(:11/62.>0 6-8 39.7| — 4 430 iigfﬁ (KFH)
LA E—ALF—T BiYrFaLTIE— ) 3% 95 —n
o N . | p—
gli1|Va—Kvyx— # 5 5156{'3%?” 1(;?:; 85 |39.8 10 :fsg) %%%ﬁ (K3)
RNTEALZRIY =9 BTN—F1F Nz )

= 4 4 | FUEEX 1:16.1 2-2 0.1 — 3 473 | BRE (K3H#)
]5 73 54.0 (INF) (+9) LFRE A

L RYJYXIR B:a-7v33 REHS
N RIPERER - Ho4 ;%%bﬂ?ﬁ 1(:11/62.)2 912 |39.8| — | 11 (4:126) f%gg (/1v#E)
L:Urh—> BAd-E-VY-> Hass
12814 i{z:—izfj}— B UX - o ?fgﬁg 1(:11/%)3 - S (4_211) %Eiﬁf%égﬂ
1357 LT17> _‘ w4 B [ R e e A el <l
RigyTELAYF— B:LI—FE—ILX A BE
EH 4 B/ TV N 4 g;fg*ﬁ* 1:(}8).4 14-14  [39.8| — | 14 42(1)? %gz@(t#)
LA Hd—A2F—T B:bIFLTIA b SH B
@ 1 —F—@EBIE
13—7-—
23 =7"=
§T=7r= 13,5,7,3,14,6,2,1,11,12,9,10,8,4
41—F— 13,5,3,7,(1,14),2,6,9,10,8,11,12,4
0 HLRE
BB 3 200 | [ 74 K 3-13 200M % E 3-8 310 & 3-9-13 14,7108
% B 3 120M 3-9 2,640 B E 3-8 470 JEH 3-13-9 34,990M
13 150M 9-13 5,110M 5 = 3-13 340
9 1,700 B H 3-13 600F

ABICOVWTRDTEEERROODE. TR LIV,



